LASESTEEASH

(&

\I

i

GHPH EEER/N\AM/N\T—TILFEHN =

b RUEREER)

BE

o

© oo~

X1
2

=

B BEREN. BERHESLCREEE 23S B 862754 T, HHAIEELEIC
V&L I-{ETY,

A RAE R UL ZERNBEGTP * * x AM1 LA BB -IHEDEZRLET,

9r
Bhal,

AR E (T H E%GJ:T 2% RL, BEMEEEEOMEF) T 3’
B R E 97\0) B%liiﬂ\b‘c;rob)iﬁ/u RER. BERCGLIAEERM
I‘C*'U\L,'C =
R )
-:L:ZH%EE
BEEND
{EEE
EfE
- HREE
IUUViBEE
"TUUUEREER
RAAVERE
B IRR
SIUDURE
CIUTUUARIKERE
I///,Eil_
7> BT iR
MIRELE "oy AR (RIS ) X
HEETAH PBRARNDIRE X IAVE) CLYBEL TS,
BEREFELANIL) l:tJlS B 8627(2006) DALY, MEETOMIBISRALIETT
%E%‘IE%EHHU@AQ ZHEPCREORE DEEICLYRTELYRELGLOM
=]

EEE (/N7 —LARJL) (LIS B 86272 E DNV =FE/NT—LRILDETY,

HEBN-ERER- NESLIURMEEENS >W§511E!13E§% EE—FZTRLET,

GCCP4501,5601,7101GKT2I& M EEERA1I=YrTT , B TO

CfEIZGCCP4501,5601,7101GT2458 E L TS ELY,

/J\%BEI:EHH&%@(;& BAGEZAIESOAIETA2 JRA GL-13(ZHELY,
!1%75\Ehr%ﬂﬁﬁ;’%rﬁéﬁim\ﬁ%ﬁ*uz\i'ct

i = GCCP4501GKT2 | ____GCCP5601GKT2 [ GCCP7101GKT2
& R HEFAXII=FH 200V 50/60Hz
s 2 F E(E E X B 1T X 08) mm 2245 x 880 X 1660
E] & = = ke 725 795 825
E I 7 B E % kW 45.0 56.0 71.0
B OW v B t® % kw 203 25.2 32.0
CE S B T B kW 203 25.2 32.0
e BN BB = W 6.3 20.4 1.5
j; [ & B B 1&E = W 0.0 63.0 0.0
b B OBE B & # W 225 28.4 6.0
& /N BE B & E W 43 17.6 0.0
& X B B & B kW 50.0 63.0 80.0
X X BE B W & & kW - - -
TH 3 EE 0.77 0.78 0.84
M AR # R §5I [APFe (2015)] 3% 1 1.84 1.88 1.88
R B [ ~ JL[ dB(A) | 61 (AL FE—F:59) | 59(FALFE—F:57) | 62(F AL FE—F:60)
Il A 'j — L N U dBA) [ TTHFALhE—F:75) | T6(F AL FE—F:74) | 82 (F AL FE—F:80)
[ T £ Pl A . 20 . -
BHH:09. =4H:05 BEAH: 0. 105
- EHSRERA A <Ei#R:5.6. 3.2> <HAE:7. :4.0>
iE #x o e o 4 5 BAR: 1. 06 EX:EE :0.6
W | CEERRE A <ifgian. =4g.04> | <wifg: 26>
EZ-HEN 0.6 BEAE 1. :0.6
rXBE)%ﬂZcm A <Hi$E:4.2, :2.4> <Hi4R: :2.8>
= E R 5 B B | W 0.028 <0.645> 0.028 <0.914> 0.028 <1.190>
= B s B AR %E kW - <0.410> - <0.482> - <0612>
,ﬁ B s B P om|  kw - <0.349> - <0.351> - <0.495>
I gy (BN B B R OE] kW - <0.272> — <0.295> — <0.358>
E o [ 1B BE B A ML wW 0.041 <0.505> 0.041 <0.628> 0.041 <0.744>
 fHBE B iE % kW 0.041 <0.336> - <0.350> 0.041 <0.402>
3 /J\ BE BB 42 S| kW - <0.245> - <0.264> - <0.282>
3 BE B3 {K om| kW 0.041 <0.558> 0.041 <0.646> 0.041 <0.802>
= 7: BE B 13 K R KW - - -
E IR ,% & = & % 16 <78> 16 <82> 16 <86>
h O RKE B E B IF £ % 20 <73> 20 <76> 20 <79>
= KX BE B & & % 20 <73> 20 <78> 20 <79>
iE FE] #HAR (3A)
E B A B E % kW 39.2 <37.8> 51.3 <49.3> 64.9 <62.3>
B HAS B R E kW - <10.3> - <128> - <15.2>
P E PR kW = <7.4> - <9.2> - <10.7>
i3 & /N S B P om| kw - <7.0> - <85> - <84>
* HER (F B IE B 1§ # kW 36.1 <34.9> 47.5 <46.0> 635 <61.7>
B BE B AR S| kW 12.8 <12.1> - <15.1> 21.1 <20.2>
& /N BE B B ] kw - <7.6> - <8.6> - <11.0>
% 0% 5 & sm| kW 49.5 <48.2> 67.4 <65.9> 87.0 <85.1>
& XBEBE B KR kW - - -
& 5] - i = KBB4 (D )LOHV
[ < AE X 175 (mm) 3x72x78 [ 4 < 86 % 86
= B = = L 0.952 | 1.998
T @A B SH i EE] FL-10000G
> B & A #H A & L 30 | 32
D E (-3 23] pa] KW 10.0 | 12.4 I 15.7
> [BA = %\A =4 ‘ BRI L ‘
s B = 800~3000 500~2195 500~2755
Bl 8 %W BE =B mn 800~ 3000 [ 500~2673 | 500~2795
) E3] 7 = AC/DCZEIRF KDCRE—H
A o & [ mm & 15.88 (B 5 1 BT
A B A X & mm & 28.58 (55 E#E) X [ ¢31.8(B5FE#H)
o W B T 6 iR ®EA T~
REMEFE B H A X & F R3/4
HE =] a mm S 100(HER O E : Em)
H S F L > mm @15
B _fis K BFE & O mm @15
H SR % K m 190/165
E [a] m 70
= [L] m 0
AT m 40
A E m 0
=N X 2 m 5
B = RoO—)LRK x2
Eli}‘ RN Bl 840~3150 } 975~4281 } 975~5373
ol i 2 = 840~3150 975~5212 975~5451
E #8 W HE [ = H|om'/revx & 86 X 2
S R BE E H A B 4CA B HEH - NL10)
B A = F HF K RIVAILE
72 E] =FEIGHPFEIEES—S 2~
T A RKE A 3 L 19.0 | 24.0 [ 30.0
REECEFEREC) % 50(-20)
i A DCISTLAENYFRT
KoK » TR F2|L/min X m| 40 X 7.1
7E 5 KW 0.13
= 25 RAJyE71425K
o3z ER s K ) ZERX
El IL—IX—T4 =
Er) TL—rXCREMER)
=X 'J/\*Z)':TW
=X BT RFT
a IFm - @E - B
[=] @
FE] R410A
= ke 16.0
£ TARSTI7T X2
& m/min 291 [ 319 [ 370
] TS LADCE—%
= P 8
5 KW 0255x1.,0321x1 | 0321x1.0431x1 | 0499 x1,0.572X1
= KW 225~585 | 28.0~72.8 | 355~92.3
=] % 50~130
| 1~59& [ 1~63& [ 1~63&
73 2272 ~280%2
> RT 5.8 | 9.5 | 9.9
)

/REJLRXT L —(9.9Y8.4/1.25E LD

XEH AEAREREENI=ZIMIBED) T2—HICTHAERDOEERTY .
<Ita.'f.ﬁﬂ#lz ¢> 31.8’6?‘)
i BIE.EBY BB
h = 35-(L-a)/2 [m] KATF =L 0=h=15
GCCP4501GKT2:PCL000Z984
GCCP5601GKT2:PCL000Z984
GCCP7101GKT2:PCL000Z985
GCCP4501GKT2:PCL000Z990
GCCP5601GKT2:PCL000Z988
GCCP7101GKT2:PCL000Z988

EREA

S

s
&

"16.2.15

GCCP4501.5601.7101GKT2

GC
E

ERAXR(EHNI=IN)

SPECIFICATION

B &

PCL000Z978

BZANE I

e

2/3




